addazui
Quantitative Aptitude for RRB NTPC (Solutions)

$1. Ans.(c)
Sol.

Viz+V18 =243+ 32
22V3+32-23-202=12

S2. Ans.(b)

Sol.

Yearly Income= 3400 = 12= 40800

Income in 1t 8 months= 3160 = 8= 25280
Income in last 5 months= 4120 = 5= 20600
8t months Income = 25280 + 20600 - 40800
= 45880 - 40800

=5080

S$3. Ans.(b)

Sol.

A,y =18 years

Sum,, = 40 x 18 years= 720

1 37
Aﬁﬂ = ].BE = ;

Sumg, = % X 60=1110 years

Sum of Ages of Newly admitted 20 students= 1110 - 720

=390

Average S
20

=19 !

B

=19 years 6 months

$4. Ans.(b)

Sol. :

Let 3 numbers arex, y, z Complete Preparation for
y=2x=x=y/2 RAILWAY Exams
y=3z=2z2=y/3

e, RAILWAY

Yy +2 =132
27 V73

YOy, EXTREME
% =132

y =72 Video Courses, Test Series,
Largest number = 72 eBooks
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S5. Ans.(b)

Sol.

Average;, =X

Sumg, = 64x

Average 65
cc =x—-2

Sum 65 = 65x - 130

Sumg, + 0=65x- 130

64x=65x-130

x=130

New Average = 130 - 2= 128

$6. Ans.(a)
Sol.
Let the distance —= x

3
?I — 20 km/hr
0*~ 40 km/hr

1
0%~ 10 km/hr

Average speed

ixxi+9xi+ixl
10 210 10 40 10 10
-3 , 6 , 1
200 400 100
400 _400_25
6+6+4 16
S$7. Ans.(b)
Sol.

1 hr 45 minutes

=60 + 45 minutes

=105 minutes
105

% =

24 X 60
~ 10500

T 14.40
=7.29%

X 100

$8. Ans.(a)
Sol.

9% of students passed in both subjects
=100 - (25+10 + 15)

=100-50=50%
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S9. Ans.(d)
Sol.

37 100 10
A—EKB—iKc—EK
2777 377 3

3 4 5
A:B:C=-K:-K:=-K

2 3 3
=9:8:10

$10. Ans.(b)
Sol.

Area=1xb
New area

% decrease in area
Ib—221b % 100

_ 100

lb

* 100

64 [b

~1001b
= 649%,

S$11. Ans.(a)

Sol.

+1 +6 +2
1234 » 12345 x 2378

9
_1X6X2

9
12

9
Remainder = +3

+— Remainders

$12. Ans.(b)
Sol.

Let fixed charges — x
Additional charge/km =y

10y 4+ x = 350
25y + x = 800
15y = 450
v =30
x=50

Charges for 30 km= 50 + 30 x 30
=50+ 900=950Rs.

6 Months Subscription

RRB NTPC

KA MAHA PACK

Test Series, Live Classes,
Video Course, eBooks

Bilingual
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$13. Ans.(b)
Sol.

4
— = 044
9

9 3
— ="=042
49 7

0.45 = 0.45
(0.8)% = 0.64

Least Number = JE
49

S$14. Ans.(b)

Sol.
Number = 56k + 29
N s5ek+ 29

8
56k 25

+

g
1 Remainder . Remainder
] 5

m |

$15. Ans.(a)

Sol.

451 4 462 | 463

=481+ 4+ 4%

=21 x 4%

The number is divisible by 3

$16. Ans.(d)

Sol.

Let the number be — x
ATQ,

8x 7x
———=15
7 8

64x — 49x
—— =15

56
15x
—=15 BILINGUAL

56

ROk
Sum of digits =5+6=11 &/ /, 0
S17. AnS(d) =bbs A addazy @
Sol. R -

Let 2 partsarex & (37 - x)

Ltz a0 RRB NTPC 4.0
5x + 407 - 11x = 227 .
-6x =-180 Starts April 9, 2020
x=30

Two partsare =30 & 7
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$18. Ans.(a)
Sol.

Let income =+ 1

Income Remaining after spending on food & house rent.

1 2

4 3
_12-3-8 1
B 12 12

— = 360
12

1—=630x12

= 7560

House Rent = 7560 x 2/3
=2520x 2

= 5040

$19. Ans.(a)

Sol.
1+1+1+1+ 1
35 -531 43

1 1 1 1

=
3x5 7x5 7x9 9ox11 11x13
1x(1 1+1 1+1 1+1 1+1 1)
2°\3 5's 77 9'9 11 11 13
_1(1 1)

T 2\3 13

_1(13—3)

T 2\3x13

s

"~ 39

$20. Ans.(d)

Sol.

Let the number of members — x
Each number contributed = 2x
2x X x= 3042

x° = 158

x =139

$21. Ans.(b)
Sol.

tanB+cot® _ Z
tanB-cot® I

Using Componendo and Dividendo,
tan® + cot® +tan® —cot® _ Z+1

tan B + cot® —tan B + cot @ o 2-1

tan® _ i

cot@ 1

tan’ B = 3

tan® =+/3

8 = 60°

sinf =2
2
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S$22. Ans.(a)

Sol.

cosx +cosy = 2
l l
1 1
x=y=0

sink+siny=0

$23. Ans.(a)

Sol.
100

@ above 30 years

75%, 25%

459, 15%
Males FEI'I'IJ:I[EH

45% — 1350
1350

0f, s
1% 45

100% 1330 »100
45
= 3000

$24. Ans.(c)

Sol.

xP+yi+z7 =14
Xy+yz+zx=11

We have,
, 2
(x -t}' +2) g ?uhlicaatiurrs
=x"+y* +z° + 2(xy + vz + zx)
_ “THE CRACKER”
~ 14+ S GENERAL SCIENCE
(x+y+z)* =36 E |
Multiple Choice Questions Book
with Detailed Explanations
S25. Ans.(a)
Sol.
Relative speed = 1 km/hr NE
_ 1000 .
T &0 m-‘!‘ min FIRST EDITION
100 . 1800+
= m,fmlll Hultiple Cholce
6 Ul_lmim:s I:lmiefi Ir!clndan
Distance b/w police & thief after 6 minutes i/ (C il | ey
100 Chemistry & of all topics
=200-"2x6 Boogy
© A
= 100 meter |
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$26. Ans.(c)

Sol.
tan@ ==

15
P=8,B=15H=+P2+B2=17
06 P 8
sin _ﬁ_ﬁ

$27. Ans.(b)
Sol.

A : B : C
24000 : 32000 : 18000
12 : 16 : 9
Let the total profit

= 100x

Extra share of A = 100x = % = 15x

Extra share of B = 100x = % =12x
Remaining Profit=100x - 15x - 12x=73x

Share of C ==, 9
37

x=3700
Total profit =370000 Rs.

$28. Ans.(d)

Sol.

Rate =109

=1/10

Let principal = (10)® = 1000
Interest 1t year — 100
Interest 20 year — 100 + 10
Interest 3™ year =100+ 10+ 10+ 1
CI-S58I=331-300

=31

31 —992

1—32

P—= 32000
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$29. Ans.(b)

Sol.

Let the first partis =x

second partis =y

According to the question,

Sx+ 11y =195 (1)
x+y=27 ..(ii)
Solve equation (i) and (ii)

x=17

y=10

x 17

--; 1{}

$30. Ans.(c)
Sol.
Downstream speed = x+y=d/3
d=3x+ 3y (1)
Upstream speed =

N
X-¥= >

d=<(x-y) (i)

Z(x-y) =3 (x+y)

Tx—-Ty=6x+ 6y

x=13y ..[iii]}

y = speed of current = 1.5 km/hr
x=13=x 1.5

=19.5 km/hr

12 Month Subscription

/4

RAILWAYS

Useful for NTPC | Group D | ALP

TEST PACK

8 | www.bankersadda.com

www.sscadda.com

www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-testseries/2138/railways-test-pack-online-test-series

